

①

$$n-1 \xrightarrow{n=9} = 17$$

$$1, 4, 9, \dots \rightarrow n^2 \xrightarrow{n=9} 81$$

$$1, 4, 9, \dots \rightarrow 1^2 = 1 \xrightarrow{\text{جدول 9}} 9$$

$$\frac{144}{1+9} = 13$$

②

$$\{1\} \{3\} \{5\} \{7\} \{9\} \{11\} \{13\} \{15\} \{17\} \{19\}$$

$$S_{11} = \frac{1+19}{2} = 10$$

③

$$a_0 = -2 \times 0 + 1 = 1 / a_1 = \left[\frac{1}{0+1} \right] + a = 1 + a / a_2 = 1 = 1 / a_3 = -2 \times 1 + 1 = -1$$

$$a_4 = \left[\frac{1}{1+1} \right] + a = 1 + a / a_5 = 1 = 1 / a_6 = -2 \times 1 + 1 = -1 / a_7 = \left[\frac{1}{1+1} \right] + a = 1 + a$$

$$a_8 = 1 = 1 / a_9 = -2 \times 1 + 1 = -1$$

$$S_{11} = 1 + 1 + 1 + \dots + 1 = 11 \rightarrow a = -1$$

$$a_1 + a_2 + a_3 + \dots + a_{11} = \left[\frac{1}{0+1} \right] - 1 + \left[\frac{1}{1+1} \right] - 1 + \left[\frac{1}{1+1} \right] - 1 + \dots + \left[\frac{1}{9+1} \right] - 1 = -1$$

④

$$a_0 = 14 \quad a_n = an^2 + bn + c \rightarrow a_n = \frac{r}{1} n^2 + \frac{r}{1} n - 1$$

$$a_1 = 17/2$$

$$a = \frac{1}{1} \times \frac{r}{1} = -\frac{1}{1} = -1 \rightarrow \begin{cases} \frac{r}{1} \times 0 + ab + c = 14 \\ \frac{r}{1} \times 1 + 1b + c = 17/2 \end{cases} \rightarrow \begin{cases} ab + c = 14 \\ 1b + c = 17/2 \end{cases}$$

$$\frac{r}{1} \times 0 + \frac{r}{1} \times 0 + c = 14 \rightarrow c = 14$$

$$a_{10} = \frac{-1}{1} \times \frac{100}{1} + \frac{4}{1} \times 10 - 1 = 14$$

$$a_1 = \frac{-1}{1} + \frac{1}{1} = 0$$

$$\frac{a_{10}}{a_1} = \frac{14}{0} = \infty$$

⑤ ✓

5

$$a_n = a_1 + (n-1)d \rightarrow a_1 + 5d = \overset{-9C}{b_1} + C \rightarrow a_1 + 5d = -1C$$

$$b_n = b_1 + (n-1)C \rightarrow a_1 + 7d = \overset{-9C}{b_1} + 4C \rightarrow a_1 + 7d = -5C$$

$$b_1 + 9C = 0 \rightarrow b_1 = -9C$$

$$5d = -4C$$

$$d = \frac{-4}{5}C$$

$$\frac{b_{10}}{d} = \frac{\overset{-9C}{b_1} + 9C}{\frac{-4}{5}C} = \frac{0}{\frac{-4}{5}C} = \frac{5}{4} \quad \text{✓}$$

4

$$4(a+d) = 5a(a+5d) + 5a(a+d)$$

$$4a^2 + 4ad + 15ad = 5a^2 + 25ad + 5a^2 + 5ad$$

$$4a^2 + 4ad + 15ad = 10a^2 + 30ad$$

$$4a^2 + 4ad - 10a^2 - 30ad = 0 \rightarrow -6a^2 - 26ad = 0 \rightarrow -2a(3a + 13d) = 0$$

$$3a + 13d = 0 \rightarrow a = \frac{-13}{3}d$$

$$\frac{a_6}{d} = \frac{a + 5d}{d} = \frac{\frac{-13}{3}d + 5d}{d} = \frac{\frac{-13 + 15}{3}d}{d} = \frac{2}{3} \quad \text{✓}$$

✓

$$a + C = 2b \rightarrow a = 2b - C$$

$$\frac{bc}{x} = \frac{a^2}{x} \rightarrow a^2 = bc \rightarrow (2b - C)^2 = bc \rightarrow 4b^2 + C^2 - 4bC = bc$$

$$C = 2b \leq \frac{b^2}{C} \leftarrow (C - 2b)(C - b) = 0 \leftarrow 4b^2 + C^2 - 5bC = 0$$

$$a = 2b - C \rightarrow a = 2b - 2b = 0 \rightarrow b, -b, b \rightarrow q = -1, 2q = -2 \quad \text{✓}$$

1

$$C + 2b = 5a \rightarrow C = 5a - 2b$$

$$aC = b^2 \rightarrow 5a^2 - 2ab = b^2 \rightarrow 5a^2 - 2ab - b^2 = 0 \rightarrow -(b-a)(b+5a) = 0$$

$$b = a \text{ or } b = -5a$$

$$14a, -5a, a \rightarrow q = -\frac{1}{5}$$

$$\frac{a_4}{a_4} = q^3 = \frac{-1}{125} \quad \text{✓}$$

بارشکلی

$$\frac{a_r}{(a_r)^r} + \frac{a_r}{a^r} = r \rightarrow \frac{a q^r}{a^r q^r} + \frac{a q}{a^r} = \frac{a q^r + a^r q^r}{a^r q^r} = r$$

(9)

$$\frac{a q^r (q^r + a q)}{\frac{a^r q^r}{a^r q^r}} \rightarrow \frac{q^r + a q}{a^r} = r \rightarrow q^r + a q = r a^r \rightarrow q^r + a q - r a^r = 0$$

$$(9) \checkmark \quad \frac{a^r}{a_r} = \frac{a}{q} = \frac{a}{q} = 1, \frac{1}{r} \quad \begin{matrix} q = a \\ q = r a \end{matrix} \rightarrow (q + r a)(q - a) = 0$$

(10)

$$a_r = \sqrt{a_f} \rightarrow a q^r = \sqrt{a q^r} \rightarrow \frac{a_f}{(a_r)^r} = 1 \rightarrow \frac{a q^r}{a q^r} = 1 \rightarrow \frac{1}{a q} = 1 \rightarrow a q = 1$$

$$a_\omega = r v \rightarrow a q \times q^r = r v \rightarrow q^r = r v \rightarrow q = r, a = \frac{1}{r}$$

$$\frac{1}{r} - a = \frac{1}{r} - \frac{1}{r} = \frac{r - r}{r} = \frac{0}{r} = 0$$

(9) \checkmark